

力学系 dynamical system 力学系.

$$A = \begin{pmatrix} a & b \\ c & d \end{pmatrix} \quad \text{実行列} \quad a, b, c, d \in \mathbb{R}.$$

$$\chi_A(\lambda) = \lambda^2 - (a+d)\lambda + \det(A) = 0$$

※4811式'

$D > 0$ の場合は. 既知. $\alpha \in \mathbb{C} \setminus \mathbb{R}$ vu.

固有値 α, β $\alpha \neq \beta, \alpha, \beta \in \mathbb{R}$

$$A \vec{v}_1 = \alpha \vec{v}_1, \quad A \vec{v}_2 = \beta \vec{v}_2 \quad (\vec{v}_j \neq \vec{0})$$

$$P = (\vec{v}_1 \vec{v}_2)$$

$$\boxed{\frac{d}{dt} \vec{x}(t) = A \vec{x}(t)}$$

$$\vec{x}(t) = P \begin{pmatrix} e^{\alpha t} & 0 \\ 0 & e^{\beta t} \end{pmatrix} P^{-1} \vec{x}(0) \quad \text{解}$$

$D = 0$ 場合.

$D < 0$

$$\lambda^2 + p\lambda + q = 0 \quad (p, q \in \mathbb{R})$$

$$\lambda = \frac{-p \pm \sqrt{D}}{2} = \frac{-p \pm i\sqrt{-D}}{2}$$

$$\alpha = \frac{-p + i\sqrt{-D}}{2}, \quad \beta = \frac{-p - i\sqrt{-D}}{2}$$

$$\boxed{\beta = \overline{\alpha}}$$

お互いに複素共役

$$\Phi_A(\lambda) = \lambda^2 - (a+b)\lambda + \det(A) = 0$$

$$\alpha \neq \beta \text{ 且 } D < 0$$

$$\leadsto \frac{d}{dt} \vec{x}(t) = A \vec{x}(t) \quad \alpha, \beta \text{ 是?}$$

α, β : 固有值.

$$A \vec{v}_1 = \alpha \vec{v}_1 \quad \vec{v}_1 \in \mathbb{C}^2$$

$$\vec{v}_1 = \vec{w}_1 + i \vec{w}_2$$

$$\vec{w}_1 \in \mathbb{R}^2, \vec{w}_2 \in \mathbb{R}^2$$

$$\vec{v}_2 = \vec{w}_1 - i \vec{w}_2$$

$$\begin{pmatrix} z_1 \\ z_2 \end{pmatrix} = \begin{pmatrix} x_1 + i y_1 \\ x_2 + i y_2 \end{pmatrix}$$

$$= \begin{pmatrix} x_1 \\ x_2 \end{pmatrix} + i \begin{pmatrix} y_1 \\ y_2 \end{pmatrix}$$

$$\bar{\alpha} = \beta$$

复共轭.

$$A \vec{v}_2 = \beta \vec{v}_2$$

$$A = \begin{pmatrix} 0 & -2 \\ 1 & 2 \end{pmatrix}$$

$$\Phi_A(\lambda) = \begin{vmatrix} \lambda & 2 \\ -1 & \lambda - 2 \end{vmatrix}$$

$$= \lambda(\lambda - 2) + 2$$

$$= \lambda^2 - 2\lambda + 2$$

$$= (\lambda - 1)^2 + 1 = 0$$

$$(\lambda - 1)^2 = -1$$

$$\alpha = 1 + i$$

$$\beta = 1 - i.$$

即(1)有1重.

$$\underline{\alpha = 1 + i} \rightarrow \begin{pmatrix} 1+i & 2 \\ -1 & -1+i \end{pmatrix} \begin{pmatrix} z_1 \\ z_2 \end{pmatrix} = \vec{0}$$

$$(1+i) \cdot (1 \ 1-i) = (1+i \ (1-i)(1+i)) \\ = (1+i \ 2)$$

$$z_1 + (1-i)z_2 = 0$$

$$z_2 = 1, z_1 = -1+i$$

$$\vec{v}_1 = \begin{pmatrix} -1+i \\ 1 \end{pmatrix} = \begin{pmatrix} -1 \\ 1 \end{pmatrix} + i \begin{pmatrix} 1 \\ 0 \end{pmatrix}$$

$$\vec{v}_2 = \begin{pmatrix} -1-i \\ 1 \end{pmatrix} = \begin{pmatrix} -1 \\ 1 \end{pmatrix} - i \begin{pmatrix} 1 \\ 0 \end{pmatrix}$$

$$\vec{w}_1 = \begin{pmatrix} -1 \\ 1 \end{pmatrix}, \vec{w}_2 = \begin{pmatrix} 1 \\ 0 \end{pmatrix}$$

$$A \vec{v}_1 = (1+i) \vec{v}_1$$

$$A \vec{v}_2 = (1-i) \vec{v}_2$$

$$\begin{cases} A \vec{w}_1 = \vec{w}_1 - \vec{w}_2 \\ A \vec{w}_2 = \vec{w}_1 + \vec{w}_2 \end{cases}$$

$$A (\vec{w}_1 \ \vec{w}_2) = (\vec{w}_1 \ \vec{w}_2) \begin{pmatrix} 1 & 1 \\ -1 & 1 \end{pmatrix}$$

↑
基 $\vec{w}_1, \vec{w}_2$

$$\alpha = a + ib, \beta = a - ib \quad a, b \in \mathbb{R}.$$

$$\begin{aligned} A \vec{v}_1 &= \alpha \vec{v}_1 \\ A \vec{v}_2 &= \beta \vec{v}_2 \end{aligned} \quad \left(\begin{aligned} \vec{v}_1 &= \vec{w}_1 + i \vec{w}_2 \quad \dots (1) \\ \vec{v}_2 &= \vec{w}_1 - i \vec{w}_2 \quad \dots (2) \end{aligned} \right)$$

$$\begin{aligned} \vec{w}_1 &= \frac{1}{2} (\vec{v}_1 + \vec{v}_2) \\ \vec{w}_2 &= \frac{1}{2i} (\vec{v}_1 - \vec{v}_2) \end{aligned}$$

$$\begin{aligned} A \vec{w}_1 &= A \cdot \left\{ \frac{1}{2} (\vec{v}_1 + \vec{v}_2) \right\} \\ &= \frac{1}{2} (A \vec{v}_1 + A \vec{v}_2) \\ &= \frac{1}{2} (\alpha \vec{v}_1 + \beta \vec{v}_2) \\ &= \frac{1}{2} \left\{ (a + ib) (\vec{w}_1 + i \vec{w}_2) \right. \\ &\quad \left. + (a - ib) (\vec{w}_1 - i \vec{w}_2) \right\} \\ &= a \vec{w}_1 - b \vec{w}_2. \end{aligned}$$

$$A \vec{w}_2 = b \vec{w}_1 + a \vec{w}_2 \quad \text{ii) } \uparrow \downarrow$$

$$\underbrace{A(\vec{w}_1, \vec{w}_2)}_{\substack{= \\ P \in \mathbb{R}^4.}} = (\vec{w}_1, \vec{w}_2) \begin{pmatrix} a & b \\ -b & a \end{pmatrix}$$

$$AP = P \begin{pmatrix} a & b \\ -b & a \end{pmatrix}$$

$$\vec{z}(t) = P^{-1} \vec{x}(t)$$

$$\frac{d}{dt} \vec{x}(t) = A \vec{x}(t) \quad \longrightarrow \quad \frac{d}{dt} \vec{z}(t) = \begin{pmatrix} a & b \\ -b & a \end{pmatrix} \vec{z}(t)$$

$$AP = P \begin{pmatrix} a & b \\ -b & a \end{pmatrix}$$

$$\frac{d}{dt} \vec{x}(t) = A \vec{x}(t) \quad \vec{z}(t) = P^{-1} \vec{x}(t)$$

$$\begin{aligned} \frac{d}{dt} \vec{z}(t) &= P^{-1} \frac{d}{dt} \vec{x}(t) \\ &= P^{-1} A \vec{x}(t) \\ &= P^{-1} A P \cdot P^{-1} \vec{x}(t) \\ &= \begin{pmatrix} a & b \\ -b & a \end{pmatrix} \vec{z}(t) \end{aligned}$$

134 $\frac{d}{dt} \vec{x}(t) = \begin{pmatrix} 0 & 2 \\ 1 & 2 \end{pmatrix} \vec{x}(t)$

$$\vec{z}(t) = P^{-1} \vec{x}(t) \quad t \geq 0 \quad P = \begin{pmatrix} \vec{w}_1 & \vec{w}_2 \end{pmatrix}$$

$$\frac{d}{dt} \vec{z}(t) = \begin{pmatrix} 1 & 1 \\ -1 & 1 \end{pmatrix} \vec{z}(t) \quad = \begin{pmatrix} 1 & 1 \\ 1 & 0 \end{pmatrix}$$

$$X(t) = \begin{pmatrix} \cos t & \sin t \\ -\sin t & \cos t \end{pmatrix}$$

$$\frac{d}{dt} X(t) = X(t) \boxed{} \quad \boxed{} \text{ } 2 \times 2 \text{ matrix}$$

$$= \boxed{} X(t)$$

$$\begin{aligned} (\cos t)' &= -\sin t & (\sin t)' &= \cos t \\ (\sin t)' &= \cos t & (\cos t)' &= -\sin t \end{aligned}$$

$$\boxed{} \neq 0$$

$$X'(t) = \begin{pmatrix} -\sin t & \cos t \\ -\cos t & -\sin t \end{pmatrix}$$

$$= \begin{pmatrix} \cos t & \sin t \\ -\sin t & \cos t \end{pmatrix} \begin{pmatrix} \boxed{x_1} & \boxed{} \\ \boxed{x_2} & \boxed{} \end{pmatrix}$$

$$x_1 \cos t + x_2 \sin t = -\sin t$$